1~15: B RA(T5%) (BAA — M, EH B/ Ly, LHIFTEH, Fawb R &5)

1 A
What is the domain of the function f(x)=x" ?

Select the correct answer.
(A) (o,0) (B) (0, ) (C) [0x) (D) (-=,00 (E) (-0

2. 4
What is the range of thefunction f(x)=x" ?

Select the correct answer.
(A) (o,0) (B) (0, ) (C) [0x) (D) (-=,00 (E) (-0

3. Thefunction f(x)=2x?+4x+4 iscalleda2"-order polynomial.
Which of the following statement is not correct?
(A) f(x) iscontinuouseverywhere (every x10).
(B) f(x) isdifferentiable everywhere (every x[101).
(C) f2(x) isa4™order polynomial.
(D) cf (x) isa2"-order polynomial for every c#O0.

(E) [f(x)]E isafirst-order polynomial.

4. What is the rigorous definition of Iirrlf(x)=2?
Select the correct answer.
(A) forevery €>0,thereisa 0>0 suchthatif 0<|x-1<dthen |f(x)-2<¢.
(B) forevery €>0,thereisa 0>0 suchthatif [x-1<J then 0<|f(X)-2<e.
(C) forevery £>0,thereisa >0 suchthatif 0<|x-2/<J then |f(x)-1<e.
(D) for every €>0,thereisa 0>0 suchthatif [x-2/<d then 0<|f(x)-1<e.
(E) none of above.

5. COSX _

Find thelimit, lim ?
X-0 X
Select the correct answer.

(A) 1 (B) o (C) -0 (D) doesnotexist (E) noneof above.



10.

11.

12.

. sSinXx . Sin3x
If lim——=1,then Iim =
x-0 X x-0 2%

Select the correct answer.

?

(A) 0 B 1 (©

N w

(D) g (E) none of above.

i(sin XCOS X) = 7?
dx

Select the correct answer.
(A) sin®x (B) cos®x (C) sin2x (D) cos2x (E) noneof above.

isin(sin X)=7?
dx

Select the correct answer.
(A) (sinx)[cos(sin x) (B) (cosx)lcos(sin x) (C) (sin x)[sin(cos x)
(D) (cosx)I[sin(cos x) (E) none of above.

i( X j:’)
dx | x?+1

Select the correct answer.

1 x> -1 x> -1 1-x°
(A) o (B) i1 ©) C+1)? (D) 1)

(E) none of above.

Find the minimum valueof f(x)=x>-3x on 0<x<2.
Select the correct answer.
(A) 0O B) 1 (©) 2 (D) -2 (E) noneof above.

1.4
I xdx =7?
0
Select the correct answer.

n ;4 n ;4 n ;4 n ;5
(A) Iimzl— (B) Iimzl—4 (®) Iimzl—5 (D) Iimzl—4 (E) none of above.
neeimn neeimn neeimn neeimn

L”cos 2xdx =?

Select the correct answer.
A) O B) 1 (©) -1 (D) n (E) noneof above.



13.

14.

15.

IO xe *dx =7

Select the correct answer.
A) 0O B) 1 (C) 2 (D) € (E) noneofabove.

4
I |x—3|dx:?
1

Select the correct answer.

2 3 5 3
(A) 3 (B) > ©) > (D) P (E) none of above.

1 tan x
[, X =2
11+ X7+ X
Select the correct answer.

(A) O (B)1 C -1 (D) n (E) none of above.

16~20: BM(25%) (BBA S M, T2 EH MR LY, FHEHIFEH, Rl b T4 5)

16.

17.

Let f(x) and g(x) betwo polynomial functions.
Which of the following statements are correct? Select the correct statements.
(A) f(x)+g(x) isapolynomial.
(B) f(xX)—g(x) isapolynomial.
(C) f(X)[g(x) isapolynomial.

f(X)
(D) 900
(E) f(g(x)) isapolynomid.

isapolynomial.

Let f(x) and g(x) betwo functionswith f(x)=1 and g(x)=0 forevery xO0O.
Which of the following statements are correct? Select the correct statements.
(A) f()+g(x=1
B) f(¥-g(x=1
© f(lg(x)=1
o X5
9(x)
(BE)  f(9(x)=1



18. Let f(x) beacontinuousfunctionon [I.
Which of the following statements are correct? Select the correct statements.

19.

20.

(A)

(B)

(©

(D)

(E

N

[Tfgax=0.

["fod==]"f (x)x.
[“feodx+ [ t(x)dx = [ f(dx for a<c<b.
[“feodx+ [ t(x)ax = [ f(xdx for a<b<c.

I:|f(x)|dx:“: f(x)dx‘ ,

Let f(x) and g(x) betwo continuousfunctionsfor every x[O[I.
Which of the following statements are correct? Select the correct statements.

(A)
(B)

©)
(D)
(E)

f(X) + g(x) iscontinuousfor every xO0.
f(X)[g(X) iscontinuousfor every x[I[1.

) is continuous for every x[10.
9(x)

f (g(x)) iscontinuousfor every x[O[I.

| f(x)]iscontinuous for every xO0.

Let f(x) and g(x) betwo differentiable functionsfor every x[I0.
Which of the following statements are correct? Select the correct statements.

(A)
(B)

©)
(D)
(E)

f(X)+g(x) isdifferentiable for every x[O[I.
f(X)[g(x) isdifferentiablefor every xO0.
)
9(x)
f(g(x)) isdifferentiable for every x[101.

isdifferentiable for every x00.

| f(x)]isdifferentiable for every xO0.



ANSWER

1 2 3 4 5 7 10
B B E A D D D
11 12 13 14 15
C A B C A
16 17 18 19 20
A,B,C,E A E A,B,C,D | A,B,D,E | A,BD




